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NOVEMBER/DECEMBER 2010,

FIFTH SEMESTER

(REGULATIONS 2007

Time : Three hours Maximum : 100 marks

Answer AL], questions,

PART A — (10x2=20 marks)

Draw the basie butterfly structure of radix-2 decimation
in frequency(DIF) Fast Fourier Transform(FFT)
algorithm,

Compute the Discrete Fourier Transform(DFT) of the 4.pt
sequence x(n) = {0, 1,2,3

When js an FIR flter said to exhibjt Linear phage
characteristics?

Give the mathematica] formulae for 5 Hamming Window,
Define Signal Scaling.

Define Quantization Error.
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7. 1s periodogram a consistent estimate of true P
density spectmm’!
g. What is the Power Density gpectrum of a stati
random process (7
9. Mention the differences petween Yon Ne
Architecture and Harvard Architecture:
10. List the available DSP addressing modes
processors: .
PART B— (Bx16= 80 marks)
11, @ @ A ﬁnité duration sequence of length I
. (yosn <L-1
as =)= .
o otherwise
Determine fhe N-pt DET of the ¢
NzL.
) State any 4 propetties of DFT.
) Or
®» O * Derive radix-2 decimation ™ tim
Foufier Transfotm(FFT) algorit
input sequence x(n) of ength 8-
(1) Using radix-2 pIT FFT algorithm
Discrete Fourier Tyansform (DF
input sequence =« =0 1,23
ength 8.
12. @ Determine the coefficients of a lin€
Flter using frequency sampling M€
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and a frequency response that satisfies the conditior

o [E=0128
H(%) “losk=4 (1€
0 k=567
Or

Design a single-pole low pass digital filter with
3-dB  bandwidth - of 0.27using the bilinea
transformation -applied to the analog filte

H(s)= 021 where Q, is the 3-dB bandwidth
s+

the analog filter. (1¢

Discuss the Fixed and Floating point representatio
of binary numbers. (1€

Or
Write short notes on :

(i)  Limit Cycle Oscillations. [¢:

(i) Anglftical Model of sample and hol
operations. (¢

Estimate the Autocorrelation and Power Densit
spectrum of Stationary random process x(¢). (1

Or

Derive Bartlett’s method for reducing variance i
Periodogram. (1€

Draw and explain the functional architecture
TMS320C54x processors. (1¢

3 ‘ K 260
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() Explain the Pipeline Operation of TMS
Processors.





